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82. SEJ| YRI(MAIHE ; Law of similarity)
S| AJoF &1 3012 HIS0] dEE [
- E2 3|MET(3®&4)H0 gl
e M
Q N
- 2L (HL)S VK (3E)HI2 M=o dliel
FTPQ_(_Q)2
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d, : Ax =HF(m)
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H : &X9 =0l(m)
n o HEAO Sha(HiSe L)
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89. glcIg=
P: E2gH(82AIIAQ JIAREL; atm)
H @ sllelat2=(atm-m?*/mol)
C: %y A2 222 (kmol/m?)
90. Z=0tA3 THHAIZHEEAIZY) * % 2S5 H4(PF) %
o = R AN XA T CHI e
MR e T e s e R
91. Y S JISEWU(OSHA) * % *
FSa=(NRR-7)x0.5
CELfE SYE=8EE SdE - S
N4nts 2el® SR 2el
02. NEXAXO LEIIF(SE, ACGIH)
&2l WBGT(TC)
- - =ei2s
Nas sg-=auls SEs s=xo sEe)%
AEENA 30.0 26.7 25.0
% o], 25% B
% ol 50% A
% ol 75% S
- & 0 AZ2ZHE 200kcal bkl 0| ALE:E &Y
- SS&Y . AlIZHY 200~300kcal?l 20| AREH= &
- B(HA)ZS - AlI2tH 350~500kcalel 20| ARLH = &Y
SPER 2= X2=(WBGT)(T)
D) =2Q(EHLZH0| LHel® = &)
WBGT(TC)= 0.7xNAHSI2ET + 0.2xER2E + 0.1 xAHAR2SE
@ 24 = BIZH0| WelHX 2= =2
WBGT(TC)= 0.7xXIHST2E + 0.3xERL2L
93. &0 B2 ¥ &
A /\l!:-E
2B (mmHg) = 719 (mmHg) X LvaOO (%)
A A E A ] A A
M AAEE (%)= — ﬂTo]x?]?jgﬂjlrll %) MASSHO XIA(%)=AHMC MAsE(%)x B
94. 82 3JI(sone)2t S AJIY W(phon)2 2
(L, —40)
S=2 ' (sone);L; =33.3logS+ 40 (phon)
S : 29 3JI(sone)
L, : 82 3J| ¢ (phon)
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95
D) SHASET(HAAS, ASH SA HEA ASE) Kk *
L,

L, L,
L=10log\10" +10% 4..-+ 10 )(dB)
AST %0
Ll L2

1 L L, L)
L= 10logl— 10 4100 ... 1010 }( dB)

96. 8% %

SE(0)=Ffx )\ $4(C)=1331.42+0.6(t)
C : 8=&(m/sec) C : 8%(m/sec)

f+ =I==(1/sec) t . 88Y MES 2%(C)
A OFE(m)

97. SLXZ(WIAX, 20 S HSEX(r.m.sdt)2 23

x 10

) (dB) SPL—201og(27PB) (dB)

P UAas8e seH(sSY AsXl) (N/m?)
1 -5

N/m?, 20uPa, 2x10~ *dyne/cm?)

99. 32 HIJIZ(SIL) * * *

) (dB) SIL—IOlog(%) (dB)
10

’\1|>\'

SIL = lolog(

0

I aEe Al w/m?)
I, EAJIEE MII(10 2w/m?)
M 22 NI 2t 204

T
s
Il

~

X
<
e}
Q -
alo
oo
00
E
|>
©
<
L

Voo OHE /d_0,| QI X+ & (m/sec)

AL (PWL, SHSF) *x K

PWL = 10log W) (dB) PWL-IOlog(Twm) (dB)

IS (watt)
0 “watt)
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101. SPLI} PWLS ZH A

@ 2X&ed 2SS %
- SPL=PWL—20logr—11(d8) XI32H=2Z, 2HINW fAXIE [0
- SPL= PWL—20logr—8(dB) BIIS

@ 2X&ed 4S5S4
- SPL=PWL—10logr—8 (dB) Xt®=2H
- SPL=PWL—10logr—5 (dB) BIXlx32HUI=, &, &F, Bt

r o ASAORLEEHO Hel(m)

102. H2IZA *
© ®sd

.
SPL, — SPL, = 2010g(r—2) (0B)
1

HSRORLEH Heldt 2u) LOIR DHOCH S IR0l 6(dB)(=20l0g2)
@ H4S2

.
SPL, — SPL, = lolog(r—Q) (dB)
1

HSRYROZRH Heldt 28 E0ZE [HOHCH SO0l 3(dB)(=10l0g2)

%_2” n: YBHORZ 1/1, 1/3 SEIE #HE
L

FTAFIF(f) =V < fo= Vi x}2fr=V2f,
: : RSV
‘%_E%(bw):fc(QQ -2 2):]3(2 2 -2 ?)=0.707f,

, fU - 126fL

T AT (f,) = \/fLXfU: \/fL><1~26fL: V1.26 f;

1/3 _1/3

n n

M= (bw) = fc(27 -2 7 ): f(22 —2

7 ) =0.232f,
@ %9 EZ(%bw)
% bw = l}w % 100(%)
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